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Running wave B.Cs



at

and T<< T  )

F









(per unit energy)

(DOS per unit volume)

DOS (not per unit volume)

in 2D: E/N =  

in 1D : E/N = 

( see problem 4 in HW#4 )



and per unit energy

m . J 

-3

-1

J   

-1

m . J 

-3

-3/2

for silver and using the values of n and  fermi energy from table 6.1, one gets for D(fermi level) =1 * 10    m. J

47

-3

-1

huge number !! ... lots of charge carriers ... Ag is a good electric conductor

= 1.062 * 10

56

2

2



(see problem 4 in HW#4)

using the general 
definition







thermodynamics limit

= - 

2

5

see problem 6.3





k_B = 8.6 *10^-5 eV/K



valid only at very low temperatures (see problem 6 in HW#4 for the full temperature dependence)





from the slope of C   vs  T

ele

see problem 4 in HW#8
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